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Hour 64 MAT257 Analysis Il on March 22, 2021: Orlentatlonﬁ;aton\D SV /

Read Along: Spivak 117-125. JJ ve M\_) 7
~HW17 due on Wednesday, HW18 on web by midnight.

Old riddle (sol'n at end). Can you find uncountably many sets of natural numbers, such that the intersection of any two of them is finite?
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Hour 65 MAT257 Analysis |l on March 24, 2021: Orientation, integration.
Read Along: Spivak 117-125.
-HW17 is due tonight, HW18 is on web.
Old riddle (sol'n at end). Can you find uncountably many sets of natural numbers, such that for any two of them, one contains the other?
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Hour 66 MAT257 Analysis Il on March 26, 2021: Integration, Stokes' Theorem. /;\ _pL)/f\,-—{ ) :ﬁ ﬂ\ - LL 1 No
Read Along: Spivak 122-126.
QIdJJdd]eiso]njﬂﬂnd)_npﬂscmerﬁPEachmearsﬁjoweu:ﬂnﬂnJIngLmanyJandeI;Lchasenthais_SJmultanﬂausJ;LeachneedsL
point at a black hat on their head. How can they maximize the chance that they will all get it right? Can they do better than 1/2*n?
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